AEERFAZRER SHEHER E Rk 24 & K B X B ©HM 3@ =
A x X X & +
BEEww| B 0B & |#ums| sz BP9 ew| 9w oB & |mume| gz BP9 ew| 9w o8B & |mume| s (¥ ew| w8 & |mums| g2 [BFY ew| w8 & |mume| m= | FOW ) ey B OB & |Hums| sz
1 36401 | 4 |SEEFFREHE #ull | 63
40001 | — SEFEHRIHE =R 53
9:30 14
D-SHE =R ER
| 42006 | 2 E}%Tﬁﬂ) &H 43
11:00 SEHERRITR
8 |5 BE 45
35702| 4 |HEEMEERHR | AW | 6D 35802| 4 |HEIRMEFMRWE | %E | 5A7 g [SREFRAEE | mx | 53
D-S£EHEFHR
2 — %% 3 | 43
SEFEHRITHE
40006 | — ?ﬂa &dE | 46
D-SERERKANTAR
— 3; E 45
11:10
|
12:40
3 36158 | 4 |HREMBHROIE thiE | 6D9 36101 | 2 “ﬁgfﬁﬁﬁmm’* ki | 5A7 | 35302 | 4 |SHRLH®REHRE HF | 43
13:20 42007 | 2 |D-SEEE®RE (FD AR | 46
|
14:50
36409 | 4 |SEEHSES4FHE FEARM | 93
4 D-SHBLFHE
42003 | 2 fiks =A XL 55
42009 2 D-SHHIEME *E 44
(%)
15:00
|
16:30
35801| 4 |SEIRMEEWTE | %I | 54 |36153] 4 |SHEEHE FE | 92 |40008| — Sﬁﬁﬁﬂmﬁ H+ | 43 | 35503 SREESFHMTE | Mk | 55 |35461| 4 |SEEEFHE s | 55 |35401| 4 |sEmELEHRE XTI | 93
5 - =
8 ng*ﬁﬂ““ﬁ HH | 53 |35002| 4 |sEEmemumBHmE | #% | 62 8 Sfﬁ"‘ﬁﬁﬂmﬁ Al | 51 |36157 SHEMHBMHE | PIE | 62 |35002| 4 |SKREHPEXRHE | FA | 62 [36051| 4 |[SHEEMBHHR B | 63
8 sfé’f#mm% %% | 53 |42008| — D;sf:’fﬁmmﬁ %k | 45 |40004 Sﬁiﬁﬁﬂm% xiT | 46 |3s102| 2 S%%g.ﬁﬁmﬁ’* % | 54 |42004| 2 |D-semmmman | EZ | s
18:00 40008 — |SEEPRIBHE | 5 | 4 1o [D:SEREFRUTE | iz | 55 D-SREEMATE | 4 | 51 |a2013| 2 [D:SHBRERHE | po | 5
| 14 34 = 34 (8
SEHFHAITR = D-SEHEFHANTR
19:30 — ?ﬁ thid 45 42209 | — 1_,;‘ fl 51
SEFHERERINR
a0007| — S =5 | 41
36403 | 4 |SEEATHIBAYE | BN 54 |35202( 4 |[SEELEAME -1 91 |35602| 4 |[S&BARBIE B | 63 |35252 SHEHERATE s 62 — |STEEFE EE 55
6 35701 4 |SEEEEATE | Al | 63 |42008| 2 ?é?ﬁi%ﬁmﬁ i | 45 |a2011 E’é?ﬁggﬂ%ﬁﬂ?" fulll | 51 |36155| 4 |sammsEmE 25 | 62
D-SEESHMR D-SEEHPFRHAUTER D-SEEMERTR = D-S&HERAITR
42002 2 |y = ik 46 — 2; #LIL | 51 | 42014 o thif | 46 — 3; 3 45
19:40 D- SERMZEFRTTE SRR FERABE SRR
42011 2 |0y wE 46 ;QE gk | 45 8 ZZE %3H# M
! w210| _ [D-SRRERATE | o | o
21:10 14
D: TR RAFE S:HTIAMhX v IR H: A& Bil) : BTHA ()81




